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LIBRARY AND INFORMATION SCIENCE

Paper - II

. Who has developed the episodic model

of information seeking behaviour ?
(A) Nicholas J. Belkin

(B) Elfreda Chatman

(C) David Ellis

(D) T. D. Wilson

. Who among the following is the

author of the theory “Medium is
the message” ?

(A) Daniel Bell

(B) Marshall McLuhan

(C) Claude Shannon

(D) Thomas Kuhn

. The duration of registration for

industrial designs in India is
(A} 05 years (B) 10 years
(C) 15 years (D) 20 years

Which one of the following will come
under the purview of Lending’ of a
copyrighted materials ?

(A) leading it to economic and
commercial advantage to lender

(B) presumption that the material
may be returned

{C) broadcasting it
(D) performing it in public

. “The Big Blue-Taxonomy of

information skill” is an information
literacy model developed by
(A) ACRL

(B) JISC
(C) SCONUL

(D) Council of Australian University
Librarians

1. 13l Wi adgse yills W3a

510 [QsRc s 2
(A) @ASlcd ®. Acklat

(B) Aetysl AeNet
(C€) 3as Aclla

(D) &LSL Qeuot

. oflAotHigdl ‘ASlan 823 u AQy

@adlett Quis slaL & ?
(A) 3{lacd Ac
(B) sl Ascfslot

(C) scuBs ollet
(D) &MY g&ot
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H2oll AHAU0 B2l adell & ?
(a) ou ay (B) 10 ad
(€) au ay (D) 20 ad
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o{lAcAlHl sl A 36 A & ?

(A) vUaReAl wEs WA curutdl
SLAELR BojcA el

(B) AH9Ml Uct a3 Aol e
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.t [Qoy ey -25 Al 2§ Sodlilatet et
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(D) SI6RAA g WA RIS
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. The report of the Advisory Committee

is also known by the name
(A) Ranganathan Committee
(B) Sinha Committee

(C} Mehrotra Committee

(D} Yash Pal Committee

. Goa State enacted the Public Library

Act in the year
(A} 2007
(B) 1994
(C) 2004
(D) 1983

. How many principles are given by the

IFLA Code of Ethics for Librarians
last revised in 2016 ?

(A) Four (B) Three
(C) Five (D) Six

. While categorizing the sources of

information, directory falls under
the category.

(A) Primary
(B) Secondary
(C) Tertiary

(D) Non-conventional document

Which of the following open access
models results in “double dipping” ?

(A) Gold open access
(B) Green open access
(C) Bronze open access

(D) Hybrid open access

10.
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. AsasRd sl B
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11.

12.

13.

14.

15.

Who's model of communication
focuses on the social purpose in
which communication is shown as
a means of sustaining relationship
between people ?

(A) Laswell’s model

(B) Westley and MacLean model
(C) Schramm’s model

(D) Newcomb’s model

Which one of the following cannot

be copyrighted ?

(A) aphotograph of a painting which
does not exist

(B) graphicsand colours ofa computer
game

(C) layout of the time table of a train

(D) a live performance

Cover to cover translation is treated
as

(A) Selective dissemination service
(B) Current awareness service

(C) On demand service

(D) Anticipatory service

Which of the following software
is specially developed for digital
reference service ?

(A) Librarian

(B) Koha

(C) Question point
(D) Alexandria

Jotspot is used for creation of
(A) Wiki

(B) Blog

(C) Facebook

(D) RSS

11,

12,

13.

14.

15.
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16. Wiki Wiki Web was developed by
(A} Word Cunningham
(B) Dale Doughenty
(C) Tim Burner Lee
(D) Tim O'Reilly

17. Which one of the following is NOT
among the principles of operations
of DCMI ?

(A) Cross-Disciplinary focus

(B) International scope and
participation

(C) Neutrality of technology

(D) Open access building

18. With respect to time isolate, the
concept of public time and private
time were first recognised by

(A) Melvil Dewey in DDC (Dewey
Decimal Classification)

(B) Library of Congress in LC
Classification Scheme

(C) S. R. Ranganathan in Colon
Classification

(D) H. E. Bliss in Bibliographic
Classification

19. Which one of the following canons
is called as common-sense canon
by Dr. S. R. Ranganathan ?

(A) Canon of characteristics

(B) Canon of array of classes

(C) Canon of succession of
characteristics

(D) Canon of chain of classes

16. i8]l I8l A slelt g2 [AsRA
SCUHL wleR] ?

(A) § sllotsn
(B) 3¢t S\Qe2l
(C) & ool cll
(D) &ln A Al

17. o{lAoumill s Sl 2l An wWSDCMI)
ol BURalet (sAAA)Al Rgldni
o2l ?

(A) SR-BREAAL slsu
(B) ulcz-Axglal 281U ua ewlledl
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(D) <ol sjwcite] Yy




. it

%

20.

21.

22.

23.

The “Statement of International
Cataloguing Principles” which sets
the background of RDA came out of

(A) IFLA meeting of experts at
Frankfurt

(B) IFLA meeting of experts at
Geneva

(C) IFLA meeting of experts at Paris

(D) IFLA meeting of experts at
Copenhagen

The term “Gang plank” is associated
with administrative
principle.

(A) Remuneration

(B) Stability of tenure
(C) Scalar chain

(D) Division of labour

Lotka’s law deals with

(A) Frequency of occurrence of
words in a text

(B) Productivity of authors in terms
of scientific papers

(C) Scattering of articles over different
journals

(D} Growth of articles in journals

“Time and motion” study was
enunciated by

(A) Edward Evans

(B) Frank and Lillian Gilberth
(C) Harrington Emerson

(D) G. McGregor
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24.

25.

26.

27.

28.

29.

Identify the following law :

If “r” is a rank of word and “f” is its
frequency then rf = ¢, where “c” is
constant.

(A} Bradford’s law

(B) Lotka’s law

(C) Narain’s law

(D) Zipf’s law

The shift cipher is referred to as
(A) Caesar Cipher

(B) WTAAD

(C) Plaintext

(D) Ciphertext

The term “Li-Fi” was coined by
(A) Tim Berners-Lee

(B) Marshal Breeding

(C) Harald Hass

(D) Nikola Tesla

involves blocking access
to malicious websites by using
domain name.
(A} Proxy filtering
(B) DNS filtering
(C) Content filtering
(D) URL filtering

The W3C standard for encoding DC
metadata in HTML is

(A) RFC 2731

(B) RFC 2709

(C) RFC 6555

(D) RFC 6556

The Budapest Treaty is concerned
with

(A) Patent Cooperative Treaty

(B) International Patent Cooperation

(C) Deposit of Microorganism
(D) Book Donation

24.

25.

27.

28.

29.
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30

31.

32.

33.

34.

35.

. How many license conditions are

available under creative commons ?
(A) Three (B) Four
(C) Six (D) Eight

Which digitization program was
initiated by National Library of
India in late 1990s ?

(A) Down the memory lane

(B) Dware Dware Gyan Sampada
(C) Information for All

(D) Preserve knowledge

Which technology is using the
concept of multi-tenancy ?

(A) Cloud computing

(B) Big data

(C) Linked data

(D) Mobile technology

A form of ethnography which is
applied to online or largely online
communities is known as

(A) Network community

(B) Meta ethnography

(C) Netno graphy

(D} Online assessment

What is the mode of the following
set of scores ?

10, 15, 10, 18, 16, 18, 15, 8, 15
(A) 15 (B) 18

(C) 16 (D) 13

Which of the following is NOT a
feature of case study method ?

(A) It is particularistic
(B) It is inductive
{C) It is descriptive

30.

31.

32.

33.

34.

35.
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36.

37.

38.

39.

Which of the following sampling
method is appropriate to study the
prevalence of typhoid among male
and female in India in 1976, 1986,
1996, 2006 ?

(A} Cluster sampling

(B) Systematic sampling
(C) Quota sampling

(D) Stratified sampling

The National Knowledge Resource
Consortium (NKRC]) established in
the year 2009, is a network of

(A) Libraries of central government
funded 44 academic libraries

(B) Libraries and information centres
of 43 CSIR and 26 DST institutes

(C) Libraries and information centres
of 104 agricultural institute

(D) Libraries of Top 100 public-private
institutions

Skill Development Programme (SDP}
for public librarians in India is
initiated by

(A) RRRLF
(B) MPLA
(C) ILA

(D) IASLIC

‘Gujarat Public Libraries Act’ was
enacted in the year

(A) 2001
(B) 1999
(C) 2003
(D) 1994

36.

37.

38.

39.

9¢95,16CS,1¢¢5,2005HL AlRdsll
yul uet UM yu@d

2L AT Sell 20920 eAA sl HI2

ofl Aettriell 56 Arucllat (stiyell) ugld
Ao & ?

(A) seize? ucllal
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40. The first well known committee

41.

42.

on regional public libraries is the
Library Development Committee,
Bombay 1939-40 which was
headed by

(A) S. R. Ranganathan
(B) V. N. Subhnarayan
(C) A. A. A, Fyzee

(D) S. Radhakrishnan

Which first version of E-Granthalaya
is available on cloud platform ?

(A) eG3
(B) eG4

(C) €G2.0
(D) €G3.0

Which of the following objectives
were addressed by the National
Knowledge Commission of India
during its tenure ?

1. Promoting a culture of excellence
in education.

2. Expanding access to higher
education.

3. Enhancing the quality of primary
healthcare.

4. Promoting economic reforms.

Code :

{A) 1 and 2 are correct
(B) 1 and 4 are correct
(C) 2 and 4 are correct

(D) 3 and 2 are correct

40. Jaca Qs uRARQ o

41.

42.

(D) 3 ual 2 A B

1e3¢-¥0 % Ult(als md: olauctasdl
yaH elldl sM3l 6cl, Aoll 2ttt
A 53l &l

(A) WY, WR. 221ellUol
(B) dl. det. Yatati2AY
(€) A A A ¥x

(D) A, AUFWYol

-2l 53 YuH addet scllBs
@zl Wy 8 ?

(A) %3

(B) 8%¥

(C) §%R.0

(D) 6%3.0

Aol oA sMael vl DAL gl
Aell #HAAL EM Aot ol AottHiol s2L
Sl %3 SeUHl vl B ?

1. Bletanl sl daldd sl
Ylclget

2. G [Qagell [QralR

3. Ylaubls ereal dewnHl delal
auRdl

4. fels YurRRda Yiciset

sls ¢

(A) 1 a2 AW B
(B) 1 ua 40U 8
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43.

44,

and are known as
the fathers of Information Science.

i. Paul Otlet
ii. Alexandar Mikhailov
iii. Henry La Fontaine

iv. S. R. Ranganathan

Code :

(A) i and iv are correct

(B) ii and iii are correct
(C} i and iii are correct

{D) ii and iv are correct

Plagiarism can occur in which of
the following forms ?

i. Verbatim copying of text
without citation.

ii. Creating original content from
scratch.

iii. Paraphrasing with proper
citation.

iv. Self-plagiarism.
Code :
(A) 1 and ii are correct

(B} i and iv are correct

(C) ii and iv are correct

(D} iii and iv are correct

43.

44,

wa HURA @sustatt
Rt ddly amellal 8.

L W 2lede

L. RAsRBLes2 Rvudclal
iii. dofl Al Hlotot

V. WY, WR. Wlall&al

sls :

(A) iwa ivaAU B
(B) ii utel ifi LU B
(C) i e iil i B

(D) ii et iv U B

ol Aol s2u 230 Goilddl (W) ue
A% & ?

i. Ggee eallcul (Aot cviLgtedl
AGEI: alsct 5L

il qzulaell yo anall wenadl,

ili. 2oa Ggel WA cwlela
dauR 539,

iv. 2wl AEl.

8ls :

(A) 1 el ii ARAL B
(B) 1wa) iv a2l &
(C) ii el iv AU O
(D) iif wa) iv AW B
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45.

46.

Special libraries can be found in
which of the following settings ?

i. Hospitals
ii. Corporations
iii. Public schools

iv. Coffee shops

Code :

(A) i and iv are correct
(B) i and ii are correct
(C) ii and iii are correct

(D) ii and iv are correct

What are the primary functions of
a public library ?

i. Providing access to information.

ii. Offering recreational activities.

ili. Preserving rare manuscripts.

iv. Promoting commercial business.

Code :

(A) i, ii and iii are correct
{B) i, ii and iv are correct
(C) only i and iv are correct

(D) omly iii and iv are correct

45.

46.

(Ao Hil 58 carcireyni Qe
sl wlal L & ?

i. RVl

ii. Qo

i, 9d2 ol
iv. 514l ellu

8ls

(A) 1wa) ivalAU &
(B) i wal ii W B

(C) i wyol 1l AW B

(D) il el iv A B

&2 JaUcyell UaURs sl sau B ?

i A Y3l wsdl

i HollRogellads YgRiall wucl
iii. wAeA sxcycdlell narll sl

iv. el e Yleuset Y3 wsq

8ls :

(A) 1, 11 o @il WA B
(B) i, ii e iv AL B
(C) M i wa iv il B

(D) {1 ) iv AU D
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47. Which of the following are IFLA’s 47. oAl FHCclloll G sRlAA sl B ?

core areas of work ? )
i. olllgs duet w@s2

i. Intellectual Property Rights )
ii. e uA Waagll
il M@ wha

iv. el HIRA

ii. Preservation and Conservation
iii. Access to Information

iv. Health Information

Code : 8ls

(A) i and iv are correct (A) i wal ivHU B

(B) ii and iii are correct (B) ii ol iii UL B
(C) i and iii are correct (C) i W iii A2l &

(D) ii and iv are correct (D) ii wal iv LU B

48. Which of the following are institutional | 48. HUEdlsil Geotal ollAsttniell s
sources for the generations of deausla Ba 8 ?
information ?

i. sy Aes sl

i. Libraries and archives

. olqHee Aere{lu

ii. Government agencies

iil. gla@ls selcat
iv. QB B2 @z

iii. Academic journals

iv. Social media platforms

Code : 8ls :

(A) i and iii are correct (A} i oy iii AL B
(B) ii and iv are correct (B} ii el iv AL B
(C) ii and iii are correct (C) ii we il AAL B
(D) i and ii are correct (D) i wa il AU B
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49, What are some common functions
of Bulletin Boards in a workplace
or community setting ?

i. Sharing important
announcements and news.

ii. Providing a platform for
anonymous complaints.

iii. Displaying artwork and creative
expressions.

iv. Facilitating online video
conferencing.

Code :

(A} i and ii are correct
(B} ii and iv are correct
(C) i and iii are correct

(D} ii and iii are correct

50. Which of the following are common

features found in Almanacs ?
i. Weather forecast.

ii. Fictional stories.

iii. Recipies for popular dishes.

iv. Astronomical data.

Code :

(A) i and iv are correct

(B) ii and iii are correct

(C) i and ii are correct

(D) i and iii are correct

49.

50.

SLHoll WU WU 32 cAcreUH
QAR olldoll Feclls UL sl
saAL B ?

i. Heccloll AMBAA A A ARLeAl
anRLstEl wucll

ii. otottdl sRaUEL e2llcce] @iat Y3
utsq

iii. S0Uoll olioll WMol UXollcHS
wl@calsa ealad

iv. wacieSol Q12 Sloseusdl
Yl auudl

S
(A
(B

oy

) i el i B
) il wea iv UL B
(C) 1w il Al &
(D) i way i« B
YaoHl ofldeuriell 56 wnHle

iR 0t st & ?
i, scltHlel i

ii. otal@sl-alclza
iii. R0l cttetofzll el A

iv. wole{la 3zt
sls ¢

(A) i ueal iv a2 &
(B) ii ol iii 2w B
(C) 1wt ii A B

(D) i wa iii WA D
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51.

52.

Which of the following are advantages
of document delivery services ?

i. Cost-effectiveness.

ii. Limited accessibility to a wide
range of documents.

Integration with physical library
resources.

iii.

Enhanced security and
confidentiality.

iv.

Code :

(A) i and iv are correct

(B) ii and iii are correct
(C) i and iii are correct

(D) ii and iv are correct

Who have suggested theories of
reference service ?

i. S. R. Ranganathan
ii. James Wyer
iii. Samuel Rothstein

iv. William Katz

Code :

(A) i and ii are correct
(B) ii and iii are correct
(C) iii and iv are correct

(D) i and iv are correct

51.

52.

Slsloe Bl Aauul ol slAeA
ol AotiHiel Ul sl B ?

i, WHUIBRS Wal.

ii. caus Aelletl £xcildslal HabEd
YAeldl.

iii. Jjatcstl elllals AA WA Ascot -

iv. detHdl awrdl v sltuslaua.
als :

(A) 1 el iv LU B

(B) ii el il ulUL B

(C) 1 utet i 1L &

(D) ii uel iv ULAU B

deol Aaiotl Rl 519 eafcan & 2
NI ERELIE (ETT

il By claAR

iii. it AuURGet

iv. [Aldan s

sls ¢

(A) i wal i AAL B
(B) iidtel iil uuL B
(C) ilidal ivuul B

(D) i wel vy 8
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53. Which of the following are common | 53. %lLIjEL[aS W3l Al 1iet

features or components of community AMLR ctel@s Qewsll ol Acunisll
information services ? sl sl B ?

i. Local news update i elaAs Welcol AHUR

ii. Emergency alerts i, wsfENs Actagll

iti. Wgclle] AR

iii. Farmer’s market
iv. dldel clgsl?

s :

iv. Transportation

Code :

Al i : :
(A) ii and iv are correct (A) ii uad iv Ul B

(B) ii and iii are correct (B) ii el ifi iUl &

(C) iii and iv are correct (C) ifi UA vl &
(D) i and ii are correct (D) 1 Wal il WU B
54. Which aspects of a bibliographic 54. 3l A A vR-2 Ml v YRl Alueti
record are covered by AACR2 ? Sl WA ANC sl WA D ?
i. Authorship and title

i. Aus wal Hauoell HRdl.

information.
ii. Physical description of the item. ii. e elllds cgiot.
iii. Subject access points. i, Ay dagell AsAY YLl
iv. Copyright information. iv. llaecll B
Code : 8ls ¢
(A) iii and iv are correct (A) iii WA iv AU B
(B) i and iii are correct (B) i ol iii 1l &
(C) ii and iv are correct (C) ii wal iv UL B

(D) i and ii are correct

(D) i el il AUl &




1
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55.

56.

In the context of colon classification,
which of the following statements are
true ?

i. Colon classification was developed
by Ranganathan.

ii. It primarily categorizes information
based on the author’s name.

iii. The basic unit of classification in
colon classification is a “Class”.

iv. Colon classification is widely used
in public libraries.

Code :

(A) i and iv are correct
(B) 1 and iii are correct
(C) ii and iv are correct

(D) iii and ii are correct

Which among the following has
used the term “canon” in naming
their normative principles for
classification ?

i. S. R. Ranganathan
ii. W. C, B. Sayers
iii. E. C. Richardson
iv. Wyndham Hulme

Code :

(A) i and ii are correct
(B) 1 and iv are correct
(C) ii and iii are correct

(D) ii and iv are correct

55.

56.

Blle aollsel ualdet Aeclui
ol AotHiell saU cllsell WUl & ?

i. Bl adlls2wl (sletet
slRGHaLet) 20tellUat Gl
Qsutacd audl.

ii. waubls usik yuol Wl Ausdl
ol UR BltllRe 8l B.

ifi. Rllg collsQuul e AsH
ol AR S B,

iv. Bllg aollseel Guallol #éR
slacHL . B,

(A) i el ivaAUL B

(B) iulal iii AUl B

(C) il W iv uLUL B

(D) iii Ul ii WAL B

ol Actimiell A collsell ATl

Rl A Fotel’ 2t0e ol Gualol sall
&cll ?

i WY WR Wiellat
ii. seey Al ofl Aad
iii. ¢ A Rutsuet
iv. deutllH &CH
sls :

(A) iuol ii UL B
(B) inal iv UL B
(C) ii uad iii Al B
(D} ii W iv AU B

-
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57.

58.

Which of the following statements
are true regarding PERT/CPM ?

i. PERT/CPM are project
management techniques used
to schedule and manage project
activities.

ii. CPM assumes that activity
durations are fixed and
deterministic.

PERT/CPM provide a single,
deterministic project completion
time.

PERT allows for uncertainty
in activity duration estimates
through the use of three
time estimates : optimistic,
pessimistic and most likely.
Code :

(A) i and iv are correct

it.

iv.

(B) i and iii are correct
(C) 1ii and iii are correct
(D) ii and iv are correct

When marketing library products
and services, which of the following
strategies can be effective ?

i. Offering free workshops and
training sessions to educate
library users.

ii. Offering a limited selection

of books and materials to
encourage borrowing.

Using social media platforms
for promotion and engagement.
Reducing library opening hours
to cut costs.

Code :

(A) 1 and iv are correct

(B) ii and iii are correct

(C) 1 and iii are correct

(D) ii and iv are correct

iii.

iv.

57. {l & 212 &/ fl Ul X o deelni

(lActHiell s (Qeilel UL B2

il 6 e &y Al Ul A0 2 Uwse
Nolalee Uald 8,2 Wesedll
Yo [AUlRd 52 & ual
U Usl 52 B,

ii. fl Ul An A oMol 53 D 3,

sta] ugldell AUl REA 41

[Rotas B,

Ul 6wz s Al Ul A A Ywse

Yeldl AU As % Wal

Rulas [ABd 52 B,

Y & 212 & A siel usldail
AHULLl AR A ALl
Urellotdofl i B, AHAUAL AL
oMol USL UERA 52 B

v al €l (ARt atel wal 302 eudl.

1ii.

iv,

8ls ¢

(A) ivelivHA D

(B) 1 uat dii Ul &

(C) ii Ul iii U B

(D) ii uel iv Ul &

sfaticta Geuteall wal Acleatl A8
aula ol AettHiell 56 ualdR

USRS B 7
i Jjatc Guelsclulal Hgd aballu

el el Agtotaf willosot s3I
QR s:al.

il Halled ude 52 Yaeisl v wHoflal
Aas-tas W2 Guael suadl.

ALl {3 v@esiinl Astela
WU s,

AU WEEL A clloll dHUA
g2lSla Wl eelsdl

8ls :

(A) iuol ivaiul B

(B) ii ol iii MUl B

(C) i e iii Wl

(D) ii et ivulUl B

iid.

iv.
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59.

60.

Which of the following is/are
well-known firewalls of computing
system ?

i. Conficker
ii. Mydoom
iii. Sonic Wall
iv. Palo Alto
Code :
(A) i, iii and iv are correct
(B) iii and iv are correct
(C) 1 and ii are correct

(D) ii and iv are correct

Which of the following is/are true
about ‘Augmented Reality’ ?

i. It uses real-world setting.
ii. Users are controlled by system.

It can be accessed by
smartphones.

iii.

The ‘Google Glan’ is an example
of augmented reality.

iv.

Code :

{A) i and ii are correct
(B} ii and iv are correct
(C) i and iv are correct

(D) i, iii and iv are correct

59.

60.

ol Actiell 585 glaudle shydlal
Red {2 yvuld & ?

i. Slot§ls?
i HIRASH
iii. Wells A

iv. ulell uLeel

sls :

(A) 1, il e iv AU &
(B) iii el iv AU B
(C) il ii AUl D

(D) ii ol iv LUl B

ol AottHigll s WaRees RuALA
@Il [Ascu B 7

i. A lac-acd AN Gudal
53 8.

. Guellscitallo] Pyl ugld st
L 8.

. Q aé et gl AsAA 57l
sl 8.

iv. ‘2 AKdlel EMEIP PR Qb{l@a"j
GeleRa B.

8l :

(A) iud ii wul B
(B) ii ual ivul &
(C) iula ivaldl B

(D) 1, ifi el ivU B
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61. Which of the following is/are
characteristics of object oriented
programming ?

i. Encapsulation
ii. Binding
iii. Platform independence

iv. Abstraction

Code :
(A) Only ii is correct
(B) i, ii and iii are correct

(C) i, ii and iv are correct

aaaaa

62. Which of the following is/are front-end
web development language ?

i. LISP
ii. PHP
iii. MySqL
iv. CSS
Code :
(A) i and iii are correct
(B) Only ii is correct
(C) Only iii is correct

(D) ii and iv are correct

61. ol Rotiniell sau sat lopse
WRARSs YoulHovati el & ?

i. SodyAslel

ii. oS8l

iil, wA2HH o5l Uoseu
iv. Aegs2Aet

81S :
(A) Wil WY B
(B) 1, il wol iii Ul &

(C) i, i W ivaul B

-----

ol AottHigll 58 Al Aut
Sacduiee Hizell euwl & ?

62.

i @y

i, Ul Al
iii. W WY 5 A
iv. fl alu A

sls :

(A) 1ol iii Ul B
(B) 5clii o ALY B
(C) §5cliii % WY B

(D) ii WA iv UL B
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63. Which of the following are an example | 63. oflActHicll s2l GELEWVL ANAel Ant

of Amazon Web Services ? Acilell & ?
i. Elastic Computing Cloud i Seukes s1rydlol scubs
ii. Simple Storage Service i, Ruuct @ Ul
iii. Cloud Servers iit. scll@s udal
iv. Azure iv. BURR
Code : sls ¢
(A) i and iv are correct (A) idelivadl 8
(B) iii and iv are correct (B) iii et iv AU D
(C) ii and iii are correct (C) ii Ao iii WAl &
(D) i and ii are correct (D) i¥a\ ii WAL B
64. Which of the following software 64, SYRARAY a1l o{lAcunial saut
are made available on cloud by Ag2 AR Buctot sAclclH] vtell ?
Duraspace ?
i. Fedora i $S2L
ii. Dspace ii. St
iii. B-prints iii. €-{e2
iv. Ganesha iv. aldleu
Code : sls ¢
(A) i and iv are correct (A) i vl ivalul B
(B) i and ii are correct (B) it ii UL B
(C) iii and iv are correct (C) iii wel iv WAL &
(D) ii and iii are correct (D} ii W iii AU B
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65.

66.

are the characteristics of
Ontology.

i. It is a controlled vocabulary tool
ii. It allows multiple choice of entries

iii. It can be created only using high
level software programs

iv. It does not provide definitions

Code :
(A) 1, ii and iii are correct
(B) i, ii and iv are correct

-----

(D) 1i, iii and iv are correct

Which of the following is /are example
of probabilistic sampling ?

i. Judgement sampling
ii. Cluster sampling
iii. Convenience sampling
iv. Statisfied sampling
Code :
(A} 1 and iii are correct
(B) ii and iv are correct
(C) i and ii are correct

(D) iii and iv are correct

65.

66.

WlelAloll Al sauL s & ?

i. A [HaBAd e eislo AUkl B

i, d ogldy udea yaatell
Ucletofl 2y B,

iii. GRys8llell As2AR YAUHA
Guallal s3lat A oetldl asta B.

iv. Q cavad Hudl «ell.

8ls ¢
(A) i, i va iii WAL B

(B) i, ii vt iv U B

(D) i, iii Al iv WAL B
2 g2ldc GeleW NANRARS
Aruelotel Gelgw

i. ez Jauclol

ii. sere’ Aruellot
iil. goclacu Qruclal
iv. R&ases Arucllol
8ls :
(A) i ol iii WAl B
(B) ii Ul ivalul B
(C) ilol ii WAl B

(D) iii el ivaLUL B
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67.

68.

Which of the following is/are examples
of webometrics ?

i. Web impact factor developed by
Ingwersen, 1998

it. Ranking web of Universities of the
World
iti. Ranking of Journals of a Country

iv. Counting of total download of a

published article
Code :
(A) 1 and iii are correct
{B) ii and iv are correct
(C) iii and iv are correct

(D) i and ii are correct

Which of the following are ways in
which Engineering Library and
Information Systems support
research and innovation in
Engineering ?

i. Providing access to patents and
standards.

ii. Assisting with data analysis and
research design.

iii. Offering 24 /7 video game access.
iv. Hosting weekly dance parties.
Code :

(A) i and iv are correct

(B) ii and iii are correct

(C) 1 and ii are correct

(D) ii and iv are correct

67.

68.

o{lAetiHicll 52 GELSRWL AGURZ|sUetl
8 ?

i, Ao se ¥5e dadu ol
tfoolcldetl, a6
ii. Rwslol Qe 25 YARER g U
acd
iii. 208001 WG wolcl WG W Sodl

iv. sGeelol 3 2l2ct SIEelEls WS

A uoclles 2udlsc
8ls ¢

(A) 1 ol iii ULUL B

(B) ii Aol ivalAUL B

(C) iii ol iv AUl B

(D) 1ol ii AUl &

ol Aottriell sau sau Wl seradl
sdac wal WAl uglal

olcflells20t 2ol Aeletoll Ustal
508 7

i, Ueoe el lesSuell AsAY
el

i. 32l AedllAl w a0 at
SletHl HeE s3la

¥ x9 (Al el AsA™
wdla

WsclllSs ojcet Wlo] viA%ot
53lal

sls :
(A) i el ivarul §

iii.

iv,

(B) ii el iii UAL B
(C) 1 Vol ii ULUL B
(D)

i el ivULAL B
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69.

Which of the following technologies
are commonly used in managing
information resources within a
Corporate Library and Information
System in India ?

i. Cloud computing
ii. Artificial Intelligence
iil. Virtual reality
iv. Content management software
Code :
(A) i and ii are correct
(B) i and iv are correct
(C) i and iii are correct

(D) ii and iii are correct

Which of the following are primary
functions of an archives ?

i. Preserving historical records.

ii. Providing public access to
materials.

iii. Conducting research and

exhibitions.

iv. Digitizing all documents.

Code :
(A) i and iv are correct
(B) ii and iii are correct

(C) i and ii are correct

(D) iii and iv are correct

69.

70.

UMl SIURe dlatea wa Hifddl
YAl oflAcunizdl 58 css{sl

Yaldll e A B et 20dlstl
el Uel HIZ duRla B ?

i. scUBs slryydlot

ii. WGellact St
i, aRjua al@dl
iv. So2oe HolwHo2 As2aR

sls :

(A) 1 Aol ii AL B
(B) il vl B
(C) i valiiiulUl B

(D) ii Aol iii WAL B

lAotiiell 58 58 NG $% E5cR
eisR (psiScn)ell & 7

i. AAslRs oldlell wnanl.
i, H3ZlaUdA 9ER AsAU 2UuUd.

iii. Yoot el Yeata] vil%el

5.
iv. oLl ExclA%%e] SlalesRalat.
8ls ¢

(A) 1A ivUL 8

(B) ii Aol iii AUl B

(C) 1 Vol ii UL B

(D) iii o\ iv AUl B
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71.

72.

Arrange the following LIS
Education Committees and
Commissions of India in the
correct chronological order of their
formation.

i. Karisiddappa Committee
ii. Ranganathan Commission
ii1. Kaula Committee

iv. National Knowledge

Commission
Code :
(A) ii i iti v
(B) ii i v i
(C) ii iii i iv
(D) ii iv i iii

Arrange the following in the
chronological order of their first
year of publication.

i. ISI web of Science
ii. Science Citation Index
iii. Social-Science Citation Index

iv. Arts and Humanities Index

Code :

(A) ii i iv i
(B) iv ii i iii
(C) iii i i iv

D) iv i i i

71.

72.

etlRdell QusldMd sjsuca wa
R ARQsuat @awet el st1dl wma
s 2lotal Aoll S6atoll 2002 SLASHML
alscl.

i, sllsvul sMA
i, 2dlellas s@atet
iii. slew s@El

iv. agloled sl sl

sls :

Ay i i i v
By i @i v i
(C) ii iii i iv
D) ii v i i

ol Aotiol Arotl Y& yst@d o yorol
sl

i A WA WY Aol WG AU
i, A LA Bd5U
jii. ARUA WA W23l BAFY
iv. AU Wes GHRAIU 85U

8ls

A) i il v i
B)iv i i i
(C)ii i i iv

D) iv i i i
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73. Arrange the following Institutions in
order of year of their establishment
with the help of code given below :

i. WIPO
ii. UGC
iii. CSIR
iv. ICSSR
Code :

(A) i i v i

B)iv i i i
@i v i i
(D) ii i i v

74. Arrange the following manifestation
of Personnel Management under
the basic class ‘X-Economics’ in
colon classification (6% ed.) in
concrete to abstract order.

i. Unskilled
ii. Dispute
iii. Married female

iv. Employer union
Code :

(A) 1 > ii = iil —» iv
B) ii—>iv—oiil—>1i

(C) iv — iii > 1 i

(D) ili > i— iv— i

73.

74.

oA e9idclt @scdal wia? ol Ae{l
drauallal dell 2 Uetloll sHHL colal:

i. lawipro)
ii. Y % (UG
jii. Al B W WR(CSIR)
iv. g Al A AA AUR (ICSSR)

iii i v i
iv 1 i il

}
)

€ i iv i i
yil i i v

50l et Uatell Eu{leti
Raicdlal yned ol X- wdau,
slcot scllRE3aet (dl [lg adlszel)
(298l gy victold slsleell

o seetl sHHL sl

i. [@etgan
ii. »usl
iii. uRelld =l

iv. ollsdleldl Hso

8ls :

(A) i ii - iii > iv
(B) ii — iv — iti —> i
(C) iv > iii > i > ii

(D) ii >1—>iv—oii
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75. Which of the following are key
functions of a Management
Information System (MIS) ?

i. Data entry and collection
ii. Inventory control

iii. Customer relationship
management

iv. Video conferencing

Code :

(A) i v dii il
(B) ii i il iv
(C) i i v

(D) i v  # i

76. Arrange the following browsers in

an ascending form according to
their date of launching.

i. Internet Explorer
ii. Mozilla firefox
iii. Mosaic

iv. Netscape Navigator

Code :

(A} ii iv. i il
(B) iv i i i
(C) i i iv o iid

D) ii iv i i

75.

76.

ol AettHioll 2L Hecctoll LAl NA%Ne2
Sogalet R (MIS)ll B ?

i 32l Al wa Ao
ii. 2l [Rixtel
iii. &S Aol AAcAst
iv. [ASlal SlogardloL

5ls ¢

(A) i iv i i
(B) ii i il iv
(©) i i i iv

D) i iv i i

ol A WGRAA AHell MER
sellHl AL ARlwell 20U Sl
sHHL ollsll.

i. gogrole AsALARR
i, oflel slaRslsy
ii. s

iv. d2du alddre:

sls :

(A) i iv i il
(B) iv. i i i
(©) i i iv i

(D) iii v i i




77. Arrange the following content
management softwares according
to their first year of launching,.

i. Wordpress
ii. Joomla

iii. Drupal

iv. Magento

Code :

(A) iii iv il i
(B) iii i i iv
(C) iv ii i iii
(D} ii iii i iv

78. Arrange the following Citation
Index in the order of their

emergence, from earliest to latest :

i. g-index
ii. h-index
iii. i-10 index
iv. k-index
Code :
(A) i iii  iv il
(B} iv i i i
(C) ii i il iv
(D} iii iv i i
79. Arrange in sequence the following

public libraries according to their
year of origin.

i. Calcutta Public Library
ii. Saraswati Mahal Library
iii. Anna Centenary Library
iv. Asiatic Society of Bombay

Code :

(A) iv i i i
(B) iii i iv i
(C) i i i iv
(D} it iv i iii

77. Aol So2oe N Aoe s A Ax

78.

79.

132 scltHl AUAA UUH el
LR N6,

i adQy

ii. HEL

iil. guct

V. A\l

55 :

(A) i iv i i

B)iii i i v

(C) iv i i iid

Dyii i 1 iv

ol Aol Bgrwl MERSL (Citation
Index)al doll AF2lctotl Aealui azell
ol SHHL 6l

i ®-TA5Y

ii. RU-FA5Y
ifi. WES-10-FA5U
iv. 3-8ad54

sls :

(A) i i iv

(B)iv i il i

(C) ii i i v

(D)iii v i i

oAlAetl MER e Anell

UL Uoltoll Geetctotl atd WHIG $HHL
slsdl.

i. sEsTL %182 AUl

ii. Ul HE3A deuc

iii. WAl Aoetd] AUl
iv. A@auRs W@l 20 oa

8ls ;

(A)iv i i i
Byii 1 v i
Ci 6 of v
D) i v i il




I‘l"!:r-:

80.

81.

Match the following and select the
correct answer from the code given
below :

List - I List — II
Software File Extension
a. SPSS i. .rda
b. Spreadsheet ii. .out
c. R iii. .sav
d. Bibexcel iv. .tsv
Code :
a b c d
(A) i i ii v
(By iv il i i
(C)ii iv il i
(D) 1i v i ii

Assertion (A) : The information
society is characterized by

the widespread use of digital
technology and the importance
of information and knowledge in
various aspects of life.

Reason (R) : In the information
society, traditional industries like
manufacturing and agriculture
have become the primary economic
drivers.

Code :

{A) Both (A) and (R) are true
(B} Both (A} and (R) are false
(C) (A) is true and (R} is false
(D) (A) is false and (R) is true

80.

81.

AlAstl [@Ascllal S U oA g2l

Sisuiell A Grtr ue 52
t€l-1 at€l-11
Alsz A sl el A suSoRlel

a. WA Yl A AA i dR
(SPSS)

b. ¥Wselle ii. Q8

c. R iii. .QuAd]

d. [ClosAa iv. ARl

sls ¢
a b c d

(A)i i i v

(B) iv i i i

(C) i v i i

(D) iii iv i i

gelol (A) : HIRBAl Aol el
Huald Bwee 25l Guallal
U (Feolloti ayei el sl B
ol siletofl WoLRAAL

51201 (R) : HBAL asuHil, uuRpdLd
Gelloll Bell ¥ Geuleel U 5 AR
Yams 2(els ol uueti: uRool
olalcd 8.

sls =

(A) olal (A) WA (R) UL &
(B) ¢ixd (A) ua (R) Wlal &
(C) (A) WY B wa (R) W &
(D) (A) Wl B ual (R) WY B




'Ii I;'n:

82. Assertion (A) : Librarians are
obligated to protect the privacy of
library users.

_r Reason (R) : It is a fundamental
| principle of librarianship professional
ethics, ensuring user’s intellectual

freedom and freedom of enquiry.

Code :

(A) Both (A) and (R) are false

(B) (A) is true and (R} is false

(C) (A) is false and (R) is true

(D) Both (A) and (R) are true

83. Assertion (A) : The primary

purpose of vocabulary control
is to achieve consistency in the
description of content objects.

Reason (R) : Consistency promote
uniformity in terms which serves to
facilitate retrieval.

Code :

(A) (A) is true but (R) is false

(B) (R) is true but (4) is false

(C) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is

not the correct explanation of (A)

82.

83.

sUol (A) : AU W AU
Guellscitzllell olluollaiciie] 2810t 53l
Wudal dla 8.

81RQ (R) : dauctallcatsll Yoo
51l cala@s ofl[Aur,
Guallsciloll olllds alcdadllo] A8t
ol YuReell Al AR Yuu B,

8ls

(A) ¢lol (A) Wl (R) Wl B
(B) (A) A B Aal (R) WIg B
(C) (A) WIg B ual (R) WY B

(D) Glol (A) ol (R) AU &

5ot (A) : 20€ (Rl Yia@s &g
Qg aglotell Alctcidl
Hacieell 8.

$1QL (R) : Adedcll A 26€ld]
AWs3UAL Il Yot yllidal u
welld 8,

5ls :
{A) (A) WA B UGl (R) Wil &
(B) (R) WA B 4 (A) WAl &

(C) vixd (A) WA (R) WU B UA(R)
A (A) ofl AAL w0 B

(D) ol (A) AUR) ARA B UQL (R} A
(A) oll Al ames v otefl




'I'I'ﬂ:

84, Assertion (A) : Provision of services
outside the library regular service
centre or outlet is essential to
reach more and more patrons.

Reason (R) : Library extension
services help libraries to cover
larger population of patrons.

Code :
(A) (A) is true and (R) is false
(B) (A) is false and (R) is true
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true
85. Assertion (A) : Thesauri are a tool
of linguistic interest because they

codify the exact terminology used
in specialized domain.

Reason (R) : Based on their linguistic

character, thesauri lend themselves
to being joined with NLP tools.

Code :
(A) (A) is true, but (R) is false
(B) (R} is true, but (A) is false

(C} Both (A) and (R} are true and (R}
is the correct explanation of (A}

(D} Both (A) and {R} are true but (R} is
not the correct explanation of (A)

84. 5ol (A): daUlctAsll vl Aausll
Gueled satacll, stell Aa Jow ¥
wBzA2 A ayal dy Guellscl Yyl
yglaual =2 o3 B.

51201 (R) : dalcal (Gl Aauzl
Jacialal Guellsdiulell catus Agell
AHLAL S HEEIU B.

8ls :
(A) (A) WY & U (R) W B
(B) (A) WIg & Aa (R) WY B
(C) (A) WAl (R) visl Wlei &
(D) (A) el (R) oial UL B
85. 580l (A) : A A el Ruq]

Ultel B 5201 3 A Wiy [Auadawi
AlssU AoEle{l ARl vloud B,

51201 (R) : LIA3 Aol ewruslat
ABllell UL UR Ael W UL Attloll
U2 %3 B.

sl
(A) (A) WY B U (R) Wi B
(B) (R} 3] & ugl (A) W@ &

(C) (A) WA (R) visl AUl & al (R)
A (A) ofl Al unxdl &

(D) (A) ¥a (R) Giol UL & UL (R)
A (A) oll ll 2magcdl otell




5

86.

87.

(D) (A) is false, but (R} is true

Assertion (A) : Effective knowledge
management can improve
organizational efficiency and
innovation.

Reason (R) : By capturing, storing
and sharing knowledge within an
organization, employees can access
and apply information more easily,
leading to better decision-making
and the ability to innovate.

Code :

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

Assertion (A) : Li-fi can be
used more effectively in a dense
environment.

Reason (R} : It uses ultra

violet, infrared and visible light
communication, which has much
bigger bandwidth.

Code :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true, but (R) is false

86.

87.

ol (A) : WUISIRS ellot cRAARI YL

draltell stdaHdl ua
atclollsea yudl ad.

51201 (R) : ireloll vicdold stlot
Nadla, Aole s3lal UA adla,
s3] Wil Gullat ay
W3S s3lal dl (Aulal wlsa ua
acflolls20l aGa vlletdl ok 8.

8ls :

(A} (A} ¥al (R) ol wlal &
(B) (A) ual (R) slol AL &
(C) (A) WY B U (R) Wi B

(D) (A) W& & U (R) ALY &

S8t (A) : AUE-5E U@ aldlaBHL
USRS A GUDIHL @8 AsLA B,

51281 (R) : A vcel-cllAde, So52s
wal foflud cge yeltetoll Gullot
52 B, B YO Ay Aoscfly da 8.

8ls :
(A) (A) Aal (R) olal UL B
(B) (A) ¥l (R) vial Wlal B
(C) (A) WY B ULl (R) Wi &
(D) (A) Vg B Ul (R) WY &
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88.

89,

90.

(D) {1) is true and (2) is false

Assertion (A) : Linked Data’s main
premise is that multiple data sets
can be uniformly accessed and
interpreted, facilitating knowledge
integration and sharing.

Reason (R) : The uniform interface
enables answering more complex
questions by combining multiple
linked data sets.

Code :

{A) Both (A) and (R} are true
(B) Both (A) and (R} are false
(C) (A) is true and (R) is false
(D) (A) is false and (R} is true

Assertion (A) : Mean, Median and
Mode are the simple statistical
techniques to understand central
tendency of the research data.

Reason (R) : These are the most
adopted statistical techniques
for analyzing qualitative data of
historical research.

Code :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true, but (R) is false

(D) (A) is false, but (R} is true

Statement (1) : RRLF which is
an agency that supports public
library services and systems is an
autonomus organization.

Statement (2) : RRLF is fully
financed by the ministry of culture,
Government of India.

Code :

(A) Both (1) and (2) are true
(B) Both (1) and (2) are false
(C) (1) is false and (2) is true

88.

89,

90.

sel (A) : [Ass datotl Yua GRRAML
wgldtl 32t Azetl Antet A AsAU
wual, def wduza s, slioto]
Asciet 584, U tlellclladl adA 8,
512QL (R) : AHiel B2y, clgldtl
S21deue] Asial s3a, ay sRa
Yslloll wellol WUl A&H 52 B,
8ls :

(A) (A) ¥ (R) olal AUl &

(B) (A) A (R) ¢ial W2l &

(C) (A) WY B wal (R) vIg &

(D) (A) WIg & A3 (R) WY B

5ot (A) : Y2ltlot HUBclotl o
ARyl 12 Hlot, Adlutet wA
s A AHeA aols2e ugldal B,

5128 (R) : A[QeRs e usiall IYQUeHS
B yasel J2 w udadlga

ULESLEY uglQR B,

sls :

(A) (A) el (R) Giat UL B
(B) (A) ¥ (R) ol w2l &
(C) (A) WY B Rl (R) Wg B
(D) (A) Vg & U (R) (Y B

Quttet (1): A%t AWM AA

AS A3 51Gdalel (RRLF) ¥ %132
Jatca Aot AU ugldalial usla
sc{l Nogorll B, B wliaud el B.
(QAtttet (2): A% AHHLEe A2
ASAL $1Ged2et (RRLF) & Gl
UYL Uiglds Houaa dRgell Aygl
oSl Astal YRl wscuHl wd 8.
sls

(A) (1) Aol (2) vial WUl &

(B) (1)uta (2)olal Wizl &

(C) (1) vlg & Aol (2) W3 B

(D) (1) AR B ual (2) Wl B
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91. Match the following and select the
correct answer from the code given
below.

d

List -1

INIS

. DESIDOC

Code :

(A) iv
(B) ii
(C) i

a b c

(D) iii i i

92.

NASSDOC .
b. DEVSIS il.
iii.

iv.

List - I1

Defence Science
Social Sciences

Development
Science

Nuclear Science

iii

iv

iv

Match the following and select the

correct answer from the code given
below.

List -1

Books in print

. World of
learning

. Keesing’s
record of World

events

d. Fodor’s guide
to India
Code :
a b c
(A) 1 i iv
(B) ii iv il
(C) iv iii i

(D) 1ii ii 1

List - II
i. Directory
ii. Trade
bibliography
iii. Travel guide

iv. Newspaper

digest

iii

ii

91. o{lAetl [Ascla A5 AR oA £2iAcl
slsHiell A G ude s

92.

ALEL-T
(NASSDOC)

(DEVSIS)
c. 8t (INIS)

d. 3Rsls
(DESIDOC)

sls

a b c
(A) iv i i
(B) ii
(C) i ii
(D) iii i i

ii1

dAlUSIS i.
- tadlu ii.

iii.

v.

2AL€1-11

T
RET

AHLYS
alll

@Qst (dstiat
2 (Asutet

iii
i
iv

iv

Al Aol [Ascilal A8\ v [A e2idal
stsniell ARA Gk ude 53
Al€l-1 al€l-i
a osd Sot o2 1 R2sedl
b. acf us allol i 35
@ocllaton gl
c. slalou 2518 s il glAe ouss
acd 8dedy
d. & ouess iv. o BUUR
2 sk SIERe
sls :
a b c d
(A} ii i iv i
B)ii v i i
(C) iv i i i
(D) ii i i v
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93.

94,

Match the following and select the
correct answer from the code given
below.
List - I List - II
a. NICTAS i. Mysore
b. NICDAP ii. Chennai
¢. NICLAI iii. Lucknow
d. NICFOS iv. Ahmedabad
Code :
a b c d
(A) iii i iv i
(B) ii i iv il
(C) iv il i
(D) ii i iii  iv
Match the following MARC - 21
Bibliographic Tag and Data Element.
List -1 List - II
MARC - Tag Data Element
a. 100 i. Main entry
corporate name
b. 110 ii. Main entry
uniform title
c. 111 iii. Main entry
personal name
d. 130 iv. Main entry
meeting name
Code :
a b c d
(A) iii i iv i
(B} iii i iv i
(C} iii i i iv
(D) i i iv i

93.

94,

o{lAetl Qs #S| wa oA ealided
slsHiell UM Grir urie 52

2L€l-1 atel-1r
a. Bsal i AR
b. Rsdu i, s
c. s iii. euisll
4. [ssld iv. HUHELCUE
8ls ¢
a b c d
(A)iii i iv  ii
(B} ii i v i
(C)iv i i i

D)ii i i v

o1 ealde 1S -2 CocllQou3s

201 U 32l AR B3,
€)1 ALEl-11
wg-291 321 A2
a. 900 i. Al APl SLqR2
aAefH
b. 90 . NeSetl Wl YA
alfec
c. 49 ifi. Aot Aol Udolcd
ATH
d. 130 iv. NFal Aol AELDL
2s ¢ AU
a b c d
(A) i i iv i
(B) i i iv i
©ii i i iv
(D) i i iv i




95.

96.

”

Match the following and select the
correct answer from the code given
below.
List - I List - II
a. Motivational i. D.M. McGregor
Theory
b. Theory X and ii. Henri Fayol
Theory Y
¢. Functional iii. F.W. Taylor
Management
d. Principles of iv. Abraham Maslow
Scientific
Management
Code :
a b c d
(A} i i iv i
(B} it iv i i
(C) iv i i il
(D) iii ii i iv
Match the following.
List - I List - II
Open Access Name of Service
Services Provider
a. BASE i. Lund University
b. Open DOAR ii. Bielefeld
University
c. DOAJ iii. OAPEN
Foundation
d. DOAB iv. University of
Nottingham
Code :
a b c d
(A) i i iii v
(B) iii iv i ii
(C) ii v i iii
(D) i iv i il

95. o{lAeit [Ascll A %S| U oA
galdetl slsHiedl A Golr ue 83

96.

aL€l-1 t€l-11
a. Hdldaee i dl.au.
@adl RERETE:
b. @adl Asu i getdl dallet
U Dadl cua
C. §5elcl NAYNoe i g soicy,
2R
d. Qeflucu 2l iv. UaleH
waRBs il
Dol o2
sls @
a b c d
(A) i iiooiv i
(B) ii  iv il i
(€ iv i i i
(D) i i i v
oAlAell [AselA %15
AL€l-1 at€l-11
dludt AsAy Al yd
Acual ULSelta] olld
a. Qo i o YAaRE
b. auet $l i Qesles
A UR AR
c. A AR iii. w15t
$1God lot
d. dl 3 A oll iv. ylAaR@d2s
&l
8ls :
a b c d
(A) i i v
(B) iii  iv i i
(C)ii  iv i iii
(D) i iv i i

o=
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97. Match the following and select the 97. o{Aell [Asclla 18 wa (A eaidal

correct answer from the following Slsniell u=l G2 wde 53
code.
List - I List - II AELT a_uefl- I
a. h-index i. Google scholar 2. A-Gedsy i el e
b. i-10 index  ii. Eugine Garfield D. AE-10 SodsA il Yol
c. Citation iii. J.E. Hirsch duA3es
index C. UL Fodsu  iii. . ¢f. &
d. g-index iv. Leo Egghe d. 9-835% iv. [@] At
Code : sls :
a b c d a b c
A)i i v i Ayi i iv i
B)ii i i iv B)iii i i iv
€ i v @i i C)ii v i i
(D) iii i ii iv (D) iii i ii iv

98. Match the following and select the | 98. «{lAstt [AsEAA RS ol oflA ealAal

correct answer from the code given slsHigll WA Bl wie s
below. €l aél-in
List -1 List - 11 St A S
oA Y G
Style Manual Style 3 . wlod
. . a AuAAA. i ldu oun,
a. MLA 1. Last name, First UM ol o
name, Year ) 4
b. APA ii. Last name, First b. Al A ii. (A oun, .
name, Title Y&H ollH, HaLg
c. Chicago  iii. Last name, Full c. @stol iii. A un,
first name, “Title” YAH oM, M)
d. Vancouver iv. Lastname, Initial d. Q[al§QQ iv. aifdn oll¥,
first name, Year Y oilH, gy
Code : 8ls :
a b c d a b c d
A) i Hooii v (A) i Hiooqi iv
B)iii i i iv B)iii # i iv
(Cyiii  iv i i (C)iii  iv i ii
D) i iv il i D)i v i i

I —y



-

99. Maich the following and select the | 99, ofiAoil (Ascllal 15l WA <A caldel

correct answer from the code given Slsuiell A G2 uE s2
below :
List - I List - II AEl-T R AR
a. Government i. Dehradun a. Jcelilee RAc2e i BEAEe
Oriental Rozelie clgoldl
Manuscripts b. Astetet ctesddl ii. sles
Library 2 & a
b. National Library ii. Kolkata SR 0cllBoH Ues
for Blinds and 38l Wy
Handicaps c. Aol o iii. Aa1es
c. Central Reference iii. Chennai a9
Library cll . .
d. Saraswathi Mahal iv. Tanjore d. ureeldl uele iv. iR
Library el
Code : sls ¢
a b c d a b c d
(A) iii i iv ii (A) iii i iv ii
(B) iii v i i (B) iii v i i
©) it i i iv ©iii i i v
(D) iv i i i (D) iv @i i i
100. Match the following. 100. (Aol @sclla A3\ ua A gaiAai
List - I List — II slsuigll A Grir ude 53,
Standard Area of application AEl-1 allﬂ-({l
a. MADS i. Rights Hlels Gualofleu
Ma_nagement a. az—l Q ﬂ ﬂ%t L ?l&ya%{
b. AGLS ii. Metadata . REL AL
Harvesting b. 2 % Ad A 1. Radat
c. OAI/PMH iii. Government slcledlol
Records c. vl A W/ iii. e
d. XrML iv. Authority Data U ENRERENEY) PR LN
Code : d. AsA AR AH A V. QQNAE
el
a b c d s :
A)i i i v a b ¢ d
(B) iv i i i (Ayi i d v
L (B) iv i i i
(C) 1iii iv i i () iid T i
(D) iv i i i (D) iv i ii iii
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